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UNIT -1
(@ Show that f(x)= || is not differentiable at X = 0.
(b)  Differentiate ¥ w.r.t. x from first principles.
dh .
© Hys=x+yx2+1 , then prove that Z}r}- = \/—;}}:T . (6+6+6)
(a) If SeC[x = yj =1 s prove that ﬂ =y
x-y dx
1
® If x,/1+y+y,/1-y=O,provethat%=(r+1)2 =0
X J
(© Verify Lagrange’s mean/ value theorem for the function
f(x)=(x=3)(x=6).(x =9) ontheinterval [3,5]. (6+6+6)
UNIT=1I
Evaluate:
5x* +12%° + 7x%dx
a
@ -[ ¥+ x
cos4x —cos2x
®) '[ sin4x —sin2x
« Vi
© J’ﬁ"_fzd, (6+6+6)
X
@ If f'(x)=x+b,f(1)=5,/(2) =13, find f(x).
(b)  Evaluate:
. x+vx+1
® I x+2
@)  [xsin(x*)ax. (6+9+3)
UNIT -1III
Evaluate:
(@ j' (e"’" +sin x)cos xdx
() I e™* cosxdx
tx-1
o J(Fe (6+6+6)
2
(a)  Using properties of definite integrals, evaluate I(_L
\J(x)+f(3-x)
(b)  Find the area bounded by the curve »* = 4x and the lines y=2 anq x=0,
(6+12)
P.T.O.
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UNIT -1y
Find the value of 4, anon zerg scalar. if
1 0 2]{1 2 3]= 4 4’10
’7'[345 S [4214}
If AB=A and BA=B, then show {hy, A=A _p2-p

Evaluate

z x y
: I 1 (64+6+0)

2 3 -
IfA: 5 _9 ,ShOWthat 19/1:_4

Solve the following system of equationsg by matrix fnethod:
x+3y+4z=8;

2x+y+27=5;
5x+y+2:7 (6+1 2)

UNIT-V

k0 10
IfA=1 [ and B = 5 1 , find the values of k for which A’=B.

Evaluate
I+x 1-x 1-x

l-x 1+x 1-x
l-x 1-x_I4%x
If f(x)=x"+7%" +8x-9,find f'(4)

Ay @& _ (/Y
If x* 4y —l,showthatdx— A

How fast is the area of a circle changing with respect to the radius of the
circle, when the radius is 3 cm?

2
Evaluate J'—(l—-*-\[—f—)-dx
x

=—lloge3

2x -3 2

4 COS X i

%
Evaluate
'L vcosx + /sinx _
Find the area bounded by the curves y=sinx between the ordmgat;s
(9<2g

x =0,x = 7 and the x-axis.

1
Show that J'
0
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